

$$\lim_{x \rightarrow 2} \frac{2x - \infty}{x^2 + ax + b} = -\infty$$

$$\rightarrow \lim_{x \rightarrow 2} \frac{-1}{x^2 + ax + b} \quad \left. \begin{array}{l} b \geq +\varepsilon \\ a = -\varepsilon \end{array} \right\} \rightarrow a + b \geq 0$$

$\varepsilon \rightarrow 0^+ \rightarrow$ یعنی ۲، ۲ هستند $\rightarrow (n-2)^2 = n^2 - 2n + 2$

$$\lim_{x \rightarrow (\sqrt[3]{\varepsilon})} \frac{x}{x^2 + ax + b} = +\infty \quad \frac{b}{a} = \frac{\sqrt[3]{\varepsilon} x}{-1 \sqrt[3]{\varepsilon}} = \left[\frac{\sqrt[3]{\varepsilon}}{-1} \right] = -1 \quad \left[\frac{b}{a} \right]$$

$$\hookrightarrow \frac{\text{نسبت}}{0^+ \leftarrow \varepsilon} = \lim_{n \rightarrow (\sqrt[3]{\varepsilon})} \frac{n}{(n - \sqrt[3]{\varepsilon})^2} = \frac{n}{n^2 - 2\sqrt[3]{\varepsilon}n + \sqrt[3]{\varepsilon}^2} = +\infty$$

$$\lim_{x \rightarrow (\frac{1}{\sqrt[3]{\varepsilon}})^+} \frac{[-x] + a}{\left| \frac{1}{\sqrt[3]{\varepsilon}} x + a \right| + a} = -\infty \quad \begin{array}{l} \text{اگر } a \geq 0 \text{ در مخرج} \\ \frac{-1+a}{\frac{1}{\sqrt[3]{\varepsilon}} + 2a} = -\infty \checkmark \rightarrow \frac{1}{\sqrt[3]{\varepsilon}} + 2a = 0 \rightarrow a = -\frac{1}{\sqrt[3]{\varepsilon}} \\ \text{اگر } a < 0 \text{ در مخرج} \\ \frac{-1+a}{\frac{1}{\sqrt[3]{\varepsilon}}} = -\infty \text{ و } \varepsilon \end{array}$$

$$\rightarrow \lim_{n \rightarrow (\frac{1}{\sqrt[3]{\varepsilon}})^+} \frac{\text{عدد منفی}}{0^+} = -\infty \quad a = -\frac{1}{\sqrt[3]{\varepsilon}} \rightarrow [a] = -1$$

$$\lim_{x \rightarrow (-\frac{1}{\sqrt[3]{\varepsilon}})^+} \frac{14x - \left[\frac{-2}{x^2} \right]}{22x + \left[\frac{2}{x^2} \right]} \xrightarrow[\text{برای } \varepsilon]{\text{تکلیف}} x > -\frac{1}{\sqrt[3]{\varepsilon}} \rightarrow x^2 < \frac{1}{\varepsilon} \rightarrow \frac{1}{x^2} > \varepsilon \quad \left[\begin{array}{l} \frac{2}{x^2} > 12 \\ \frac{-2}{x^2} < -8 \end{array} \right]$$

$$\lim_{x \rightarrow (-\frac{1}{\sqrt[3]{\varepsilon}})^+} \frac{14x - (-9)}{22x + 12} = \frac{+1}{0^+} = +\infty$$

$$\lim_{n \rightarrow 2^+} \frac{n^2 - 2}{n^2 - [n^2]} = \frac{0}{0} \rightarrow \lim_{n \rightarrow 2^+} \frac{n^2 - 2}{n^2 - 1} = \frac{(n-2)(n+2)}{(n-1)(n^2 + 2n + 1)}$$

$$= \lim_{n \rightarrow 2^+} \frac{n+2}{n^2 + 2n + 1} = \frac{4}{17} = \frac{1}{\sqrt[3]{\varepsilon}}$$

$$\lim_{n \rightarrow -\infty} \frac{(n+1)(n+2)}{n^2 + 10n + 14} = \lim_{n \rightarrow -\infty} \frac{F}{F} = \frac{(n+1)(n+2)}{n^2 + 10n + 14} \times \frac{n^2}{n^2} = \lim_{n \rightarrow -\infty} \frac{(1+\frac{1}{n})(2+\frac{2}{n})}{1+\frac{10}{n}+\frac{14}{n^2}} = \lim_{n \rightarrow -\infty} \frac{2}{1} = 2$$

$$= \lim_{n \rightarrow -\infty} 2n + 8 = -\infty$$

$$\lim_{n \rightarrow 0^-} \frac{\sqrt{r+n} - \sqrt{r-n}}{\sqrt{1-\cos n}} \times \frac{\sqrt{1+\cos n}}{\sqrt{1+\cos n}} \times \frac{\frac{1}{n}}{\frac{1}{n}} = \lim_{n \rightarrow 0^-} \frac{r+n - \sqrt{r^2 - n^2}}{1-\cos n} \times \frac{1+\cos n}{1+\cos n} \times \frac{1}{n}$$

$$\lim_{n \rightarrow 0^-} \frac{r+n - \sqrt{r^2 - n^2}}{(-n)(\sqrt{r+n} + \sqrt{r-n})} = \frac{r}{-1(r+r)} = -\frac{r}{2r} = -\frac{1}{2}$$

$$\lim_{x \rightarrow 0} \frac{K + \cos(\sqrt{a}x)}{Kx^2} = ? \quad \frac{a}{K} = \frac{4}{-1} = -4$$

$$\lim_{x \rightarrow 0} \frac{K + \cos(\sqrt{a}x)}{Kx^2} = 0 \Rightarrow K + \cos(0) = 0 \Rightarrow K = -1$$

$$\lim_{x \rightarrow 0} \frac{K + \cos(\sqrt{a}x)}{Kx^2} = \frac{K - \frac{a}{2}x^2}{Kx^2} = \frac{K - \frac{a}{2}x^2}{Kx^2} \times \frac{1}{1} = \frac{-\frac{a}{2}x^2}{Kx^2} = -\frac{a}{2K} = 4 \Rightarrow a = -8$$

$$\lim_{n \rightarrow (ra)^+} \frac{r\sqrt{n-ra} + r\sqrt{n} - \sqrt{r^2a}}{\sqrt{n^2 - 2ra}} \quad a > 0$$

$$\lim_{n \rightarrow (ra)^+} \frac{r\sqrt{n-ra}}{(\sqrt{n-ra})(\sqrt{n+ra})} + \frac{r}{\sqrt{n+ra}} = \frac{r}{\sqrt{ra}}$$

$$\lim_{n \rightarrow -1} \frac{1 - K[n]}{n^2 - 1} = -\infty \quad (K[n], \cos(K[n])) \quad \text{see } \cos(-0.11), \cos(0.11)$$

$$n \rightarrow (-1)^- \rightarrow [n] = -1 \rightarrow \frac{1 + K}{0^+} = -\infty \rightarrow K < -1$$

$$n \rightarrow (-1)^+ \rightarrow \frac{1 - K(-1)}{0^-} = \frac{1 + K}{0^-} = -\infty \rightarrow K > -1$$

$$-1 < K < 0$$